Efficiency vs dr

0.5

0.45

©
»

0.35]

efficiency vs AR
o
w

i L LN RN LR LN AR RRRRY LRRLN RRRR

0.25
0.2
0.15

L)QM VOOUTI_RO000000 obal
DQM_V0001_| ROOOOOOOOl __Global_
B M~V0001_R000000001__Global

71

10*2

Ll o

CMSSW_CKIPUSU__RECO
CMSSW_| mkFltPUSOLothQuad RECO
__CMSSW_scmod05_REC!H

M_VOOOl ROOOOOOOOl GIObaI_CMSS\I\/_ScmOd05+dup RECO

TP min AR

[ Efficiency vs dr (track,jet) |

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

1072

AR(TP,

107t
jet)

0.2

.......................................

.......................................

Ratio

O[T T

80

Pileup



	Contents
	Page 1


